



But

$$S_{3/2}(4N, X, E_{4N}) \xrightarrow{\hat{\tau}} S_{3/2}(4N, X)^*$$

$$f \mapsto \langle \cdot, (W_{4N} f) \rangle$$

Notation:

$$E_{4N} = \begin{pmatrix} 4N \\ \cdot \end{pmatrix},$$

$$(W_{4N} f)(\tau) = f\left(\frac{-1}{4N\tau}\right) (-i\sqrt{4N}\tau)^{-3/2}$$

$$(L f)(\tau) = \overline{f(-\bar{\tau})}$$

Thus we obtain a map

$$L_{t,x} : C(2N, X^2) \longrightarrow S_{3/2}(4N, X, E_{4N})$$

$$\langle g, (W_{4N} L_{t,x}(c)) \rangle = \int_{C^+} S_{t,x}(g) \quad \textcircled{2}$$

Lemma 1) $\int_{C^+} L_{t,x}$ ^{defined by} \int_{C^+} commutes with all $\nabla(p)$ ($g \cdot d(p, 4N) = 1$).

$$2) \lim L_{t,x} = W_{4N} \circ L \text{ (via } S_{t,x} \text{)}^\perp$$

$$3) \sum L_{t,x} = S_{3/2}(4N, X, E_{4N}) \text{ (since } \sum L_{t,x} = \text{volume} \cdot \underbrace{(\text{Area } S_{t,x})}^\perp)$$

Recall

$$S_{t,x}(g) = \langle g, \Theta_{t,x}(\cdot, z) \rangle$$

Hence

$$\langle g, (W_{4N} L_{t,x}(c)) \rangle = \int_{C^+} \langle g, \Theta_{t,x}(\cdot, z) \rangle$$

$$= \langle g, \int_{C^+} \Theta_{t,x}(\cdot, z) d\bar{z} \rangle$$

(Interchanging \int_{C^+} and volume integral can be justified)